

Collection and Delivery of Residential and Commercial Solid Waste, Recycling and Horticultural Materials City of Sanibel, Florida RFP-PW-2-2024/SK

Article II No. 3.2: Price Proposal



SOLID WASTE, HORTICULTURAL DEBRIS AND RECYCLING COLLECTION PROPOSAL PRICING TEMPLATE

A.1. Residential Collection - Curbside Basic Services (unlimited collection)

	Weekly Price Per Dwellin		Number of Collection Per Year		Total
Garbage	<u>\$</u> 2.67	x	52	=	§ 138.84
Recyclables	s 1.46	x	52	=	\$ 75.92
Horticulture	§ 1.30	x	52	=	s 67.60
Billing Charge (A	anual)			-	\$ 0.00*
Total Annual Res	idential Collection	n Price \$ 2	82.36		

oust Authral Residential Confection Luce 2

1	Miscellaneous	Decidential	Callection	Samulana (1)
			L.OHKEKIKIR	THE PARTY OF

Optional Second Weekly Garage Collection

Weekly price per dwelling = \$ 11.43

House/Back Door Weekly Collection

Weekly Price
Per Dwelling

Garbage \$4.67

Recyclables \$3.46

Horticulture \$3.30

- Unbundled Horticultural Collection = \$ 25.00 per cubic yard
- Curbaide electronics recycling = \$ 0.00 (included) per week

⁽¹⁾ Number of cans/bags/items is unrestricted. Does not include disposal costs. Garbage collection includes bulky waste and white goods collection provisions at no charge.

^{*}No Billing charges for residential customers as long as the City of Sanibel is handling billing residents.



CITY OF SANIBEL SOLID WASTE, HORTICULTURAL DEBRIS AND RECYCLING COLLECTION PROPOSAL PRICING TEMPLATE

B.1. Commercial Collection - Basic Can Services

Garbage (Mandatory Service)

Weekly Price Per Unit (Customer) For: **

	1 Can	2 Cans	3 Cans	4 Cans	5 Cans	6 Cans
Once Weekly Service	<u>\$ 17.32</u>	s 34.64	\$ 51.98	\$69.28	\$ 86.60	\$103.92
Twice Weekly Service	\$ 34.64	\$69.28	§103.92	\$ 138.56	\$ 173.20	\$ 207.84

Extra Pick Up Charge - \$29.85 Per Can

Horticultural (Optional Service)

Weekly Price Per Unit (Customer) For: **

	1 Can	2 Cans	3 Cans	4 Cans	5 Cans	6 Cans
Once Weekly Service	s 17.32	\$ 34.64	<u>\$51.96</u>	<u>\$69.28</u>	\$ 86.60	§ 103.92
Twice Weekly Service	\$ 34.64	\$69.28	s 103.92	<u>\$ 138 56</u>	<u>\$ 173.20</u>	§ 207.84

Extra Pick Up Charge = \$29.85 Per Can

⁽²⁾ Does not include disposal costs.



CITY OF SANIBEL SOLID WASTE, HORTICULTURAL DEBRIS AND RECYCLING COLLECTION PROPOSAL PRICING TEMPLATE

C.1. Commercial Collection - Basic Container Services

Garbage (Mandatory Service)

Container Size And Type	Annual Container Rental Price		Weeldy P	rices Per	latt (Cus	tomer) Fe	pr ch	
		l Pull Per Week		3 Pulls Per Week				s Extra
2 CY DUMPSTER	§ 72.00	S_17.37	8 34.74	§ 52 11	\$ 60 48	\$ 88 65	S 104.22	\$ 50.00
4 CY DUMPSTER	S 96.00	S 34.44	\$ 00.68	\$ 103.32	\$ 137.76	\$ 172.20	S 206.54	\$ 100.00
6 CY DUMPSTER	S 120.00	S 47.29	§ 94.58	g 141.87	\$ 189.16	S 236 45	S 283.74	\$ 150.00
8 CY DUMPSTER	§ 144 00	\$ 67.12	S 114.24	\$ 171.38	\$ 275 48	\$ 285 60	\$ 342.72	\$ 165.00
10 CY ROLL-OFF	\$ 0.00	\$ 350 00	§ 700.00	\$ 1050.0	0§ 1400.0	0§ 1750.0	2100.0	05 0.00
20 CY ROLL-OFF	\$ 0.00	\$ 250.00	\$ 700 00	\$ 1050 00	\$ 1400.00	\$ 1750.00	\$ 2100.00	\$ 0.00
30 CY ROLL-OFF	\$ 0 00	\$ 350.00	\$ 700.00	\$ 1050.00	\$ 1400.00	\$ 1780 00	\$ 2100.00	\$ 0 00
4 CY COMPACTOR	\$ 2880.00	\$41.45	\$ 82.90	\$ 124.35	\$ 165.80	\$ 207.25	\$ 248.70	\$ 275.00
6 CY COMPACTOR	\$ 6160 00	\$ 62.75	\$ 124.50	S 186 76	\$ 249 00	\$ 311 75	\$ 273.50	\$ 400.00
8 CY COMPACTOR	\$ 6960 00	\$ 82.90	\$ 166.80	\$ 248.70	\$ 331.60	S_414.50	\$ 497.40	\$ 490.00
OTHERS (LIST)								
	3	\$	\$	S	\$	\$2	\$	\$
	\$	\$	\$	_s	s	\$	\$	\$
	s	\$	\$	S	s	s	\$	\$
	\$	\$	\$	_ S	\$	\$	\$	s
	\$	\$	<u>s</u>	_s	\$2	s	\$	\$
	\$	\$	\$	_ \$	s	s	s	\$

⁽³⁾ Assume no special service (e.g. open gate). Does not include disposal costs



CITY OF SANIBEL SOLID WASTE, HORTICULTURAL DEBRIS AND RECYCLING COLLECTION PROPOSAL PRICING TEMPLATE

C.1. Commercial Collection - Basic Container Services (continued)

Horticultural (Optional Services)

Container Size And Type	Annual Container Rental Price		Weekly i	'rices Per	Unit (Cus	tomer) Fa	er o	
		1 Pull Per Week		3 Pulls Per Week	4 Pulls Per Week	5 Pulls Per Week		Extra
2 CY DUMPSTER	\$ 72 00	\$ 17.37	\$ 34.74	\$ 52.11	\$ 00.48	\$ 00.06	\$ 104.22	\$ 50.00
4 CY DUMPSTER	\$ 96 00	\$ 34,44	\$ 68.88	\$ 103.32	\$ 137.76	\$ 172.20	\$ 208.64	\$ 100.00
6 CY DUMPSTER	§ 120.00	\$ 47.29	\$ PH 58	\$ 141.67	\$ 189.16	\$ 238 45	\$ 203.74	\$ 150.00
8 CY DUMPSTER	\$ 144.00	\$ 57.12	\$ 114.24	\$ 171.36	\$ 228 48	\$ 285.60	\$ 342.72	\$ 185.00
10 CY ROLL-OFF	\$ 000	\$ 250 00	\$ 700.00	S 1050.00	\$ 1400.00	\$ 1780.00	\$ 2100.00	\$ 0 00
20 CY ROLL-OFF	\$ 000	\$ 250 00	\$ 700.00	\$ 1050.00	\$_1400.00	\$ 1750.00	\$ 2100 00	\$ 0.00
30 CY ROLL-OFF	\$ 0.00	\$ 350.00	\$ 700.00	\$ 1060.0	05 1400 0	0§ 1750.00	S 2100.0	05 0.00
OTHERS (LIST)								
	\$	\$	\$	\$	\$	\$	s	\$
	\$	\$	\$	_s	\$	\$	\$	\$
	\$	\$	\$	S	\$	\$	s	s
	<u>s</u>	\$	\$	\$	\$	s	s	s
	\$	\$	\$	s	\$	s	\$	2
	\$	S	S	. S	s	s	s	s

⁽a) Assume no special service (e.g. open gate). Does not include disposal costs



Collection and Delivery of Residential and Commercial Solid Waste, Recycling and Horticultural Materials City of Sanibel, Florida RFP-PW-2-2024/SK

CITY OF SANIBEL SOLID WASTE, HORTICULTURAL DEBRIS AND RECYCLING COLLECTION PROPOSAL PRICING TEMPLATE

D.1. Commercial Properties Miscellaneous Services **

Back Door Weekly collection (for can service customers)

Per Can s 35.00 Garbage \$ 35.00 Horticulture s 25.00 Unbundled Horticultural Collection = per cubic yard **Optional Recycling Program Services** Weekly Price SWA 14 Gallon Bins - comingled per Bin (One collection per week) SNA 18 Gallon Bins - comingled per Bin (One collection per week) \$45.00 96 Gallon Tote - comingled per Tote (One collection per week) SNA 96 Gallon Tote - one material per Tote (One collection per week) s N/A Portable Rack System per Rack (One collection per week) \$8.00 Cardboard Recycling per Cubic Yard (Does not include container rental)

Weekly Price Per Unit (Customer)

	Container Roll	-Out Services	\$ 7.25	per Koll
•	White Goods	\$ 40.00	pe	r item (or attach other charging schedule)
•	Bulky Goods	\$ 20.00		r Cubic Yard (or attach other charging schedule)

Lock Bars will be provided at no charge to customers requesting them

Mandatory Multi-family Residential Recycling Services

Weekly Price

•	14 Gallon Bins - comingled	s N/A*	per Bin
•	(One collection per week) 18 Gallon Bins - comingled	s N/A*	per Bin
•	(One collection per week) 96 Gallon Tote- comingled	\$ <u>0.00*</u>	per Tote
•	(One collection per week) 96 Gallon Tote - one material	\$ 0.00°	per Tote
	(One collection per week)		

¹⁴ Does not include disposal costs

^{*} Southwest Waste will provide 95 gallon totes to all multi-family customers and provide once weekly collection at no charge.



ALTERNATE BID ITEM NO. 1 CITY OF SANIBEL SOLID WASTE, HORTICULTURAL DEBRIS AND RECYCLING COLLECTION PROPOSAL PRICING TEMPLATE

A.1. Residential Collection - Curbside Basic Services (unlimited collection)

Contractor shall provide 64-gailon carts with wheels and lids for recyclable storage and collection for each residential customer. This shall convert recyclables service to an automated system/service.

	Weekly Pri		Number of Collection Per Year	Total
Garbage	\$ 2.67	x	52	= \$ 138.84
Recyclables	\$ 2.98	x	52	= \$ 153.92
Horticulture	§ 1.30	X	52	s 67.60
Billing Charge (A	nnual)			= \$0.00*

Total Annual Residential Collection Price S 360.36

Optional Second Weekly Garage Collection

Weekly price per dwelling = \$ 12.93

House/Back Door Weekly Collection

Weekly Price
Per Dwelling

Garbage \$5.67

Recyclables \$4.96

Horticulture \$3.60

 Unbundled Horticultural Collection = § 25.00 per c 	cubic ya	ard
--	----------	-----

• Curbside electronics recycling = \$ 0.00 (Included) per week

^{*}No Billing charges for residential customers as long as the City of Sanibel is handling billing residents.

Miscellaneous Residential Collection Services (1)

⁽¹⁾ Number of cans/bags/items is unrestricted. Does not include disposal costs. Garbage collection includes bulky waste and white goods collection provisions at no charge.

Collection and Delivery of Residential and Commercial Solid Waste, Recycling and Horticultural Materials City of Sanibel, Florida RFP-PW-2-2024/SK

ALTERNATE BID ITEM NO. 2 CITY OF SANIBEL SOLID WASTE, HORTICULTURAL DEBRIS AND RECYCLING COLLECTION PROPOSAL PRICING TEMPLATE

A.1. Residential Collection - Curbside Basic Services (unlimited collection except for horticulture that shall be limited to 10 (ten) bags, bundles and/or barrels for residential weekly maximum collection volume)

Weekly Price Per Dwellin		Number of Collection Per Year		Total
<u>\$</u> 2.67	x	52	=	s 138.84
s 1.46	x	52	-	s 75.92
\$ 1.20	x	52	=	\$ 62.40
nuai)			-	\$ 0.00*
	\$ 2.67 \$ 1.46 \$ 1.20	Ser Dwelling (1) \$ 2.67 X \$ 1.46 X \$ 1.20 X	Per Dwelling (t) Collection Per Year \$ 2.67 X \$ 1.46 X \$ 1.20 X 52 52 \$ 2 52	Per Dwelling (t) Collection Per Year \$ 2.67 X \$ 1.46 X \$ 1.20 X \$ 2 = \$ 2 =

Total Annual Residential Collection Price S 277.16

Miscellaneous Residential Collection Services (1)

Optional Second Weekly Garage Collection

Weekly price per dwelling = \$ 12.93

House/Back Door Weekly Collection

	Weekly Price Per Dwelling
Garbage	\$ 5.67
Recyclables	\$3.96
Horticulture	\$ 3.60

- Unbundled Herticultural Collection = \$ 25.00 per cubic yard
- Curbside electronics recycling = \$ 0.00 (included) per week

^{*}No Billing charges for residential customers as long as the City of Sanibel is handling billing residents.

⁽¹⁾ Number of cans/bags/items is unrestricted except for horticulture. Does not include disposal costs. Garbage collection includes bulky waste and white goods collection provisions at no charge.



ALTERNATE BID ITEM NO. 3 CITY OF SANIBEL SOLID WASTE, HORTICULTURAL DEBRIS AND RECYCLING COLLECTION PROPOSAL PRICING TEMPLATE

i.1. Residential Collection – Curbside Basic Services (unlimited collection except for horticulture that shall be limited to 10 (ten) bags, bundles and/or barrels for residential weekly maximum collection volume)

Contractor shall provide 64-gailon carts with wheels and lids for recyclable storage and collection for each residential customer. This shall convert recyclables service to an automated system/service.

	Weekly Pri		Number of Collection Per Year	Total
Garbage	\$ 2.67	x	52	= \$ 138.84
Recyclables	§ 2.98	x	52	= \$ 153.92
Horticulture	\$ 1.20	X	52	= \$62.40
Billing Charge (Annual)				= \$ 0.00

Total Annual Residential Collection Price S 355.16

Optional Second Weekly Garage Collection

Weekly price per dwelling = \$ 12.93

House/Back Door Weekly Collection

Weekly Price
Per Dwelling

Garbage \$5.67

Recyclables \$4.96

Horticulture \$3.60

- Unbundled Horticultural Collection = § 25.00 per cubic yard
- Curhside electronics recycling = \$ 0.00 (included) per week

^{*}No Billing charges for residential customers as long as the City of Sanibel is handling billing residents.

Miscellaneous Residential Collection Services (I)

⁽¹⁾ Number of cans/bags/items is unrestricted except for horticulture. Does not include disposal costs. Garbage collection includes bulky waste and white goods collection provisions at no charge.